am7EE BHEWMI KRB /NER 7R TEF T
SH7E6H28H WA
= _ F K 1T = B T#XSB TEE
, xtﬂzﬂu?&%sﬁ%{%ﬁﬂlﬁ"é DIERREZ (ZR) SF7F (O-@1445  |14:50 16:35
E£ERLEAM7A1ANS7A7HET @~®15:45 |15:50
ZB2@ HESML FEHPHE BREHRE EBE (O~@1430 [14:35
2 1K $§;@§ 2EFR 2BRE~DUDOULML FEHHHE |®®15:20
#%E
3|k Kg>F421L BEEMKREZ(1-3-55) SEREEE (D-@1445 (1450
VNG = ®)~®)15:45 |15:50
4l RESHE €% BEXHR SXEBEMBBEE DO~@14:45 |14:50 16:35
- @~®)15:45
5 bR N =]
6 bR N =]
71 B D14:45 14:50
@~®15:45 |15:50
X|SEHEIRE &&B —FTR KEOFIAL 14:45 14:50
x 9572 BRERT HIEFMLS10 FHIKREHE DO~®@14:30 |14:35
_ @~®15:20
BIXHFERTE SHEIRE HBEZENDS DO~®14:30 [14:35
10| K ®15:45
11| 4 |ARBH= (F8, EET, B-FHE, 5R)  3FAE 13.00 13:05 15:00
T RE SRS (EEEN) % BE/FE SCER
bR N =]
12
bR N =]
13
14 A |HiRBRS (R . HA. S5H) SKRHEEX £€ 13:00 13:05 15:00
HARBAS(EH . TH. ALA. EH) SHEEIEE (1300 13:05 15:00
15| K|EE BALZEER
SHM7EEEQESEHMHIEES | 240FET
16| 7K HEREA 4BREREX —FTR BIRREH DO~®13:55 |14:00
BEXE ®)15:20
17 4 |CEREIRE BARER KRR BEAER(DYY [11:30 11:35
AN —FTR
1R EX BESE —FTRKR 11:00 11:05
19 EREAE
PTABFDEL
20 Bz B E -
ENEDH ESKEH(7/21-8/31)
HI—RI—IL(AM)  FIEHIUAERR/NEE 5%
E={K#%EH
23| K| I—RI—IL(AM) BT HEEWHERT £ EHE (F
oSA4Y) Tk
HT—X5—JL(AM) ICTHHE13:30
25| & E={K%EH
| R AEHE13:30
26 EZK%xB BHKHE
97 EZK%xB BHKHE
28 EEHREH
29| K| BEHKER
30| K| BEEFAEH
£E RI—ILH9 tS5—HHE 10:00

KRRICEYFENERIZRDZEENHYET . HoMLHIT T HEIZSL,




